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ENBUERINZETRES

F—ESHE—HN R TEREMIEARR)

(£) HM743H31H

(547 - F9)
BIERIE FH(A) RE(B) ER(A)-(B) 1%

NERRBEINA 42,960, 000 42,969, 389 -9, 389

E| (BAEUHBZRA 138, 310, 000 138, 308, 326 1,674
g | IR B BTN 2,850, 000 2,900,913 -50, 913
& | A | AR RS RINA 2,500 5, 485 -2, 985
g |EOMOIRA 2, 240, 000 2,320, 009 -80, 009
- [ [E=EBRAG (1) 186, 362, 500 186, 504, 122 -141, 622
p| [ArEEsE 133,135, 000 132,135, 859 999, 141
+ [BEEX 34, 190, 000 33,262, 199 927, 801

3 o [EBsE 13,535, 000 11,783,819 1,751,181
W)™ | szanpumse 1, 130, 000 1,118,937 11,063
%| [EEFEHIHE (2) 181, 990, 000 178, 300, 814 3,689, 186
EEFHASINZER (3) = (1) - (2) 4,372,500 8, 203, 308 -3, 830, 808
5z | [FERERSHENDIRA 145, 000 145,013 -13
|  [PEEEEHESHIEIIA 50, 000 0 50, 000
e | | MEEREEHEIRAGT (4) 195, 000 145,013 49,987
- | |[RREREAR TREESE 11,708, 000 11,708, 000 0
£ | [BES RS 1, 440, 000 1,425, 500 14,500
RS AT (5) 13, 148, 000 13,133, 500 14,500

S fEaRmEEaa Ny AE (6) = (4) — (5) ~12, 953, 000 —12, 988, 487 35, 487
D IR [#Ex EEHAAIRA 1, 490, 000 1,491, 744 -1.744
B | A [2ofthoiEEIRAG (7) 1,490, 000 1,491, 744 1,744
B (X |[ErEER 1,000, 000 973, 552 26, 448
(C [t |z ofhniEBZ tET (8) 1, 000, 000 973,552 26, 448
& [ZotoEBESINZZEE (9) = (7) — (8) 490, 000 518, 192 28,192
FRgEZE (10) 1,800, 000 1,800, 000

0

LEASINEERAASt (11) = (3) + (6) + (9) — (10) -9, 890, 500 —4, 266, 987 -5, 623,513
BRI ESES (12) 74,138,512 74,138,512 0
LERRINERES (11) + (12) 64, 248,012 69, 871, 525 5,623,513




